

Fayed Raza

40/18/2020

14.8: 5, 7, 9, 11, 13, 15

S. $f(x, y) = x^2 + y^2, 2x + 3y = 6$

$$f_x = \lambda g_x \quad f_y = \lambda g_y$$

$$2x = \lambda 2$$

$$2y = \lambda 3$$

$$x = \lambda$$

$$y = \lambda \frac{3}{2}$$

$$\frac{144}{49} + \frac{324}{49}$$

$$\frac{468}{49}$$

$$2x + \frac{3}{2}(x)$$

$$x = \frac{12}{7}$$

$$y = \frac{36}{14} = \frac{18}{7}$$

$$2\lambda + 3\left(\frac{3}{2}\lambda\right) = 6 \Rightarrow \lambda = \frac{6}{12} = \frac{1}{2}$$

$$2x + \frac{9}{2}x = 6$$

$$\frac{21}{2}x = 6 \Rightarrow x = \frac{12}{13}$$

$$x = \frac{12}{13}$$

$$\frac{144}{169} + \frac{324}{169} = \frac{468}{169}$$

$$x = \frac{12}{13}$$

$$y = \frac{36}{26} = \frac{18}{13}$$

Minimum = $\frac{36}{13}$

7. $P(x) = x^2 g(x)$

$y = \frac{1}{2} 8x \quad x = \frac{1}{18} y$

$P(x) = x^2 (18)(8) \cdot \frac{1}{2} y$

$P(x) = x^2 (18)(8) \cdot \frac{1}{2} (8x)$

$\text{Max} = 2 \left(\frac{4}{3} \right) = \frac{8}{3}$

$\text{Min} = 2 \left(-\frac{4}{3} \right) = -\frac{8}{3}$

$x = \frac{1}{12}$

$4 \left(\frac{3}{2} y \right)^2 + 9y^2 = 32$

$4 \left(\frac{9}{4} \right) y^2 + 9y^2 = 32$

$x = \frac{12}{12} y \quad 9y^2 + 9y^2 = 32$

$y = \frac{9}{6} y \quad 18y^2 = 32$

$x = \frac{3}{2} y \quad y^2 = \frac{32}{18}$

$x = \frac{\sqrt{16} \sqrt{2}}{\sqrt{9} \sqrt{2}}$

$y = \frac{4\sqrt{2}}{3\sqrt{2}}$

$4x^2 + 9 \left(\frac{64}{144} \right) x^2$

$4x^2 + 4x^2 = 32$

$8x^2 = 32 \quad x = 2$

$$9. f(x, y) = x^2 + y^2, \quad x^4 + y^4 = 1$$

$$\langle 2x, 2y \rangle = \lambda \langle 4x^3, 4y^3 \rangle$$

$$2x = \lambda 4x^3$$

$$2y = \lambda 4y^3$$

$$\frac{2}{x} = \lambda 4$$

$$\lambda = \lambda = \frac{2}{2y^3}$$

$$\frac{1}{2x} = \lambda$$

$$\frac{1}{y^2} = \lambda \cdot 2$$

$$\lambda = \frac{1}{\sqrt{2x}}$$

$$\frac{1}{4x^2} + \frac{1}{4x^2} = 1$$

$$\frac{2}{4x^2} = 1 \quad \frac{1}{2} \cdot \frac{1}{x^2} = 2$$

$$f\left(\sqrt{\frac{1}{2\sqrt{2}}}, \sqrt{\frac{1}{2\sqrt{2}}}\right) \frac{2}{4x^2} = 1$$

$$\frac{2}{4x^2} = \frac{2}{4 \cdot \frac{1}{2\sqrt{2}}} = \frac{2}{2\sqrt{2}} = \frac{1}{\sqrt{2}}$$

$$2 \left(\sqrt{\frac{1}{2\sqrt{2}}}\right)^2 =$$

$$\frac{1}{\sqrt{2}} = \sqrt{\lambda^2}$$

$$2 \cdot \frac{1}{2\sqrt{2}} = \frac{1}{\sqrt{2}} \cdot \sqrt{2}$$

Max: $\sqrt{2}$
Min: $\frac{1}{\sqrt{2}}$

$$f\left(\sqrt{\frac{1}{2\sqrt{2}}}, \sqrt{\frac{1}{2\sqrt{2}}}\right) = \frac{1}{\sqrt{2}}$$

11. $f(x,y,z) = 3x + 2y + 4z, \quad x^2 + 2y^2 + 6z^2 = 1$

$$\langle 3, 2, 4 \rangle = \lambda \langle 2x, 4y, 12z \rangle$$

$$3 = \lambda 2x \quad 3 = \lambda 4y \quad 4 = \lambda 12z$$

$$\frac{3}{2} = \lambda x \quad \frac{3}{4} = \lambda y \quad \frac{4}{12} = \lambda z$$

$$x = \frac{3}{4}$$

$$y = \frac{3}{8}$$

$$z = \frac{4}{24} = \frac{1}{6}$$

$$z = \frac{1}{6}$$

$$\frac{9}{4} + \frac{6}{4} + \frac{6}{6} = 1$$

$$z = \pm 3.7$$

$$\frac{2.25}{x^2} + \frac{1.125}{x^2} + \frac{0.67}{x^2} = 1$$

Max: 3.7
Min: -3.7

$$\lambda = 2$$

13 $f(x,y,z) = xy + 2z$ $x^2 + y^2 + z^2 = 36$

$f(4, 4, \frac{1}{2}) = 16 + 2 = 20$
 $f(-4, -4, \frac{1}{2}) = 16 + 2 = 20$

$\langle y, x, z \rangle = \lambda \langle 2x, 2y, 2z \rangle$

$y = \lambda^2 x$

$x = \lambda^2 y$ $\frac{x}{\lambda^2} = y = \lambda^2 z$

Max: 20
Min: -20

$xyz = \lambda^3 xyz$

$\frac{1}{8} \lambda^3 = 1$ $\lambda = \frac{1}{2}$

$x^2 + \frac{y^2}{4} + 2z = 34 + 2(2)$

$2x^2 = 32$ $x^2 = 16$ $x = \pm 4$
 $z = 2$

15

$f_x = g_x$

$\langle y+z, x, x \rangle = \lambda \langle 2x, 2y, 2z \rangle$
 $(y+z) = \lambda(2x)$

$x = \lambda(2y)$

$f_z = g_z$

$\frac{x}{2x} = 1$

$f(\frac{\sqrt{2}}{2}, \frac{1}{2}, \frac{1}{2}) = 2$
 $f(-\frac{\sqrt{2}}{2}, \frac{1}{2}, \frac{1}{2}) = 2$
 $x = \pm \frac{\sqrt{2}}{2}$

$x = \lambda(2z)$

$\frac{\lambda}{2x} = 2$

$\frac{x^2}{4x^2} + \frac{x^2}{4x^2} + x^2 = 4$ $z = \frac{1}{2}$
 $y = \frac{1}{2}$

$\frac{2x^2}{4x^2} + x^2 = 4$

$\frac{x^2}{2x^2} + x^2 = 4$ $x^2 = 4 - \frac{1}{2}$
 $x = \pm \frac{\sqrt{7}}{2}$

Max: $2\sqrt{2}$
Min: $-2\sqrt{2}$